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45 Club A

Name:

2x6-= 33:3= 12 x 3= 4 x11-= 4x5-=
44 - 4 = 7x2-= 9x4-= 4:4- 100+ 10 =
12 x4 = 40+ 4-= 20+5-= 48 -+ 4 = 11x2-=
120+ 10 = 8x3-= 36 3= 8x2-= 5+5=
9x 3= 50+ 5 = 36+5H5= 110+ 10 = 24 -3 =
4x4-= 22 -2 = 5x9-= 14 -2 = 36 4=
24+ 2= 9x2-= 20+ 2= 3x7-= 27 <3 =
3x6¢= 32+4-= 18 - 2 = 455 = 11x 3=
30+-3= 55+ 5= 60=+5-= 6xb-= 6+2-=

VEH
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Learning together, achieving success.
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2x6-= 33:3= 12 x 3= 4x11-= 4x5-=
44 - 4 = 7x2-= 9x4-= 4:4- 100+10 =
12 x 4 = 40+ 4= 20+5 = 48 + 4 = 11x2-=
120+ 10 = 8x3-= 36 3= 8x2-= 5+5=
9x3-= 50+ 5 = 36+5H= 110+ 10 = 24 + 3 =
4x4-= 22+ 2= 5x9-= 14+ 2 = 36 4=
24 -2 = Ox2-= 20+ 2= 3x7= 27 -3 =
3x6¢= 32+4-= 18+ 2= 455 = 11x 3=
30+-3= 55+ 5 = 60=+5= 6xb-= 6:2-=

Learning together, achieving success.




